
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwbs-20-3-trunnion-support-bracket-assembly
7/18/25

JWBS-20-3 Trunnion Support Bracket
Assembly

Product Images

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwbs-20-3-trunnion-support-bracket-assembly


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwbs-20-3-trunnion-support-bracket-assembly
7/18/25

Description

Index
Number Part Number Description Size Qty

 JWBS15-1138A Trunnion Support Bracket
Assembly (#1 thru 34)   

1 TS-1550061 Flat Washer M8 x Ø23 2

2 TS-2361081 Lock Washer M8 1

3 TS-1541031 Nylon Lock Hex Nut M8 2

4 TS-2171012 Phillips Pan Head Machine Screw M4x6 2

5 PM1500-085-05 Gear Rack  1

6 TS-2284061 Phillips Flat Head Machine Screw M4x6 1

7 JWBS15-1138-307 Carriage Bolt M8x90 2

8 PM1500-085-08 Trunnion Block  1

10 JWBS15-1138-310 Lock Handle  1

11 PM1500-085-11 Tilt Scale  1

12 PM1500-085-12 Adjustment Knob Bolt  1

13 TS-1550021 Flat Washer M4 x Ø8 2

14 PM1500-085-14 Angle Pointer  1

15 JWBS15-1138-315 Adjustment Knob Bolt M6 1

16 PM1500-085-16 Locking Ring  1

17 TS-2311061 Hex Nut M6 2

18 PM1500-085-18 Adjustment Plate  1

19 5712561 Phillips Pan Head Machine Screw M5x8 2

20 PM1500-085-20 Set Screw  1

21 PM1500-085-21 Lock Knob  1

22 JWBS15-1138-322 Trunnion Support Bracket  1

23 PM1500-085-23 Gear  1

24 TS-2235061 Socket Head Cap Screw M5x6 6

25 PM1500-085-25 Adjustment Shaft  1

26 PM1500-085-26 Retaining Ring R22 1

27 BB-608ZZ Ball Bearing 608ZZ 1

28 PM1500-085-28 Thrust Bearing Holder  1

29 PM1500-085-29 Retaining Ring S8 1

30 JWBS15-1138-330 Adjustment Bar  1

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwbs-20-3-trunnion-support-bracket-assembly


3 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwbs-20-3-trunnion-support-bracket-assembly
7/18/25

31 TS-1523011 Socket Set Screw M6x6 1

32 JWBS15-1138-332 Spring  1

33 TS-1550041 Flat Washer M6 x Ø19 1

34 JWBS15-1138-334 Flat Washer M8 x Ø23x5t 2

Additional Information

Stock Number 714800-3

Products in this set

Washer | TS-1550041

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwbs-20-3-trunnion-support-bracket-assembly

